
Lösungen Info-Test Nr. 3 
 
1. a) Es werden 5 Kleeblätter in einer Diagonale gelegt. 

b)  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

nein
tools.showMessage 

kara.putLeaf(); 

kara.move(); 

kara.turnLeft(); 

kara.move(); 

kara.turnRight(); 

i = i + 1; 

ja 

int i=0; 

START 

 
2. void legeParalellogram
 for (int i=1; i<=hoehe; 
  legeX(laenge); 
  kara.turnLeft(); 
  kara.turnLeft(); 
  geheX(laenge-1); 
  kara.turnRight(); 
  kara.move(); 
  kara.turnRight(); 
  } 
 } 
i < 5
STOP

(„Ich bin fertig“); 

m(int laenge, int hoehe) { 
i++) { 



3. boolean mushroomLeft() { 
 if (kara.treeLeft()) { 
  return false;} 
 else { 
  kara.turnLeft(); 
  if (kara.mushroomFront()) { 
   kara.turnRight(); 
   return true;} 
  else { 
   kara.turnRight(); 
   return false;} 
  } 
 } 
 
4. a) boolean 
 b) void 
 c) void 
 


